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sl ALDESH
2 N ALMAD
 om: Aad=Be CERED
AN - 2N - FH - SHA(SAH) - MREAY - BES Ofl &+ o Oaﬂgi Hns
Oxty A2t (AL FARY X 22ll)
2,500,0002 2,500
202 04 | 2,100 4,200 A2,100
01 2ol b 2,100 4,200 A2,100
OALTA B L Bt EZ 0l 2,100,0002 2,100
NYENLEARNE 2 33,700 30,000 3,700
NYEN+SAAE 29 33,700 30,000 3,700
201 QB2 bl 31,200 27,600 3,600
01 AbR 22l 13,200 27,600 A 14,400
OdMCOIE &I X 2 95 29 4,800,0008 4,800
ORY+Y(NLEXNLEARF) 8,400,00024 8,400
02 Tzl 18,000 0 18,000
OSHRI(SRE 2e 245 2B 23)
18,000, 0002 18,000
202 01 | 2,500 2,400 100
01 =Uhotbl 2,500 2,400 100
OZ2UOHI(BFUL L AXIA) 2,500,000 2,500
#H 2| 50,036 50,036 0
D2 B (2 &AL 50,036 50,036 0
ST 50,036 50,036 0
201 2Bt b 28,400 28,400 0
01 Ak el 28,400 28,400 0
ORNSY Lu+aY| 10,000, 0002 10,000
SN2y 2 18,400, 0002 18,400
202 01 | 17,436 17,436 0
01 =Lhotbl 17,436 17,436 0
O=N2Y 2L 0itI 17,436, 0002 17,436
203 & 2 =X bl 4,200 4,200 0
04 BARYARETY) 4,200 4,200 0
SNRYYRETY| 350,0002 * 122 4,200






